# A CLASS OF NEW NONLINEAR DIFFERENCE INEQUALITY WITH TWO VARIABLES 

WU-SHENG WANG ${ }^{1, *}$, $\mathbf{Z I Z U N}$ LI $^{2}$, YUNCHU QIN $^{1}$ and YUSONG LU $^{1}$<br>${ }^{1}$ Department of Mathematics<br>Hechi University<br>Yizhou, Guangxi, 546300<br>P. R. China<br>e-mail: wang4896@126.com<br>${ }^{2}$ School of Mathematics and Computing Science<br>Guilin University of Electronic Technology<br>Guilin 541004<br>P. R. China


#### Abstract

The main objective of this paper is to establish a class of new nonlinear difference inequality with two variables, which provides explicit bounds on unknown functions. This inequality given here can be used as tools in the study of partial difference equations with the initial and boundary conditions.


2010 Mathematics Subject Classification: 26D10, 26D15, 26D20.
Keywords and phrases: difference inequality with two variables, techniques of analysis, estimation of unknown function.

This work is supported by the Natural Science Foundation of Guangxi Autonomous Region (0991265), the Scientific Research Foundation of the Education Department of Guangxi Autonomous Region (200707MS112) and the Key Discipline of Applied Mathematics of Hechi University of China (200725).
*Corresponding author
Received April 27, 2010

## 1. Introduction

Being important tools in the study of difference equations, some discrete versions of integral inequalities (e.g., in [1, 2, 4, 6, 8, 10, 12] and some references therein) have attracted great interests of many mathematicians. Some recent works can be found (e.g., in [3, 5, 7-9, 11, 13] and some references therein). Pachpatte [8] obtained an upper bound on the following inequality:

$$
u^{2}(n) \leq\left(c_{1}^{2}+2 \sum_{s=0}^{n-1} f(s) u(s)\right)\left(c_{2}^{2}+2 \sum_{s=0}^{n-1} h(s) u(s)\right)
$$

However, the bound given on such inequality in [8] is not directly applicable in the study of certain difference equations. It is desirable to establish new inequalities of the above type, which can be used more effectively in the study of certain classes of difference equations.

In this paper, we establish a new difference inequality

$$
\begin{align*}
\psi(u(m, n)) & \leq\left(c_{1}(m, n)+\sum_{s=m_{0}}^{m-1} \sum_{t=n_{0}}^{n-1} f_{1}(s, t) \varphi(u(s, t))\right) \\
& \times\left(c_{2}(m, n)+\sum_{s=m_{0}}^{m-1} \sum_{t=n_{0}}^{n-1} f_{2}(s, t) \varphi(u(s, t))\right) \tag{1.1}
\end{align*}
$$

## 2. Main Result

Throughout this paper, $m_{0}, m_{1}, n_{0}, n_{1}$ are given natural numbers. $\mathbb{N}:=$ $\{0,1,2,3, \ldots\}, \quad \mathbb{N}_{+}:=\{1,2,3, \ldots\}, \quad I:=\left[m_{0}, m_{1}\right] \cap \mathbb{N}_{+}, \quad I_{m}:=\left[m_{0}, m\right] \cap \mathbb{N}_{+}, \quad J:=$ $\left[n_{0}, n_{1}\right] \cap \mathbb{N}_{+}, J_{n}:=\left[n_{0}, n\right] \cap \mathbb{N}_{+}, \mathbb{R}_{+}:=[0, \infty)$. For functions $z(m, n), m, n \in \mathbb{N}$, its first-order differences are defined by $\Delta_{1} z(m, n)=z(m+1, n)-z(m, n)$. Obviously, the linear difference equation $\Delta u(m)=b(m)$ with the initial condition $u\left(m_{0}\right)=0$ has the solution $\sum_{s=m_{0}}^{m-1} b(s)$. For convenience, in the sequel, we complementarily define that $\sum_{s=m_{0}}^{m_{0}-1} b(s)=0$.
$\left(\mathrm{H}_{1}\right) \quad \psi \in C\left(\mathbb{R}_{+}, \mathbb{R}_{+}\right)$is a strictly increasing function with $\psi(0)=0$ and $\psi(t) \rightarrow \infty$ as $t \rightarrow \infty ;$
$\left(\mathrm{H}_{2}\right) c_{1}, c_{2}: I \times J \rightarrow(0, \infty)$ are nondecreasing in each variable;
$\left(\mathrm{H}_{3}\right) \varphi \in C\left(\mathbb{R}_{+}, \mathbb{R}_{+}\right)$is nondecreasing with $\varphi(r)>0$ for $r>0$;
$\left(\mathrm{H}_{4}\right) \quad f_{i} \in C\left(I \times J, \mathbb{R}_{+}\right), i=1,2$.
Theorem 1. Suppose that $\left(\mathrm{H}_{1}\right)-\left(\mathrm{H}_{4}\right)$ hold and $u(m, n)$ is a nonnegative and continuous function on $I \times J$ satisfying (1.1). Then we obtain

$$
\begin{equation*}
u(m, n) \leq \psi^{-1}\left(\Phi^{-1}\left(\Omega^{-1}(A(m, n))\right)\right) \tag{2.1}
\end{equation*}
$$

for all $(m, n) \in I_{M_{1}} \times J_{N_{1}}$, where

$$
\begin{align*}
& \Phi(r)=\int_{1}^{r} \frac{d s}{\varphi\left(\psi^{-1}(s)\right)}, \quad r>0, \quad \Phi(0):=\lim _{r \rightarrow 0^{+}} \Phi(r),  \tag{2.2}\\
& \Omega(r)=\int_{1}^{r} \frac{d s}{\varphi\left(\psi^{-1}\left(\Phi^{-1}(s)\right)\right)}, \quad r>0, \quad \Omega(0):=\lim _{r \rightarrow 0^{+}} \Omega(r),  \tag{2.3}\\
& A(m, n)=\Omega(B(m, n))+\sum_{s=m_{0}}^{m-1}\left(\sum_{t=n_{0}}^{n-1} f_{1}(s, t) \sum_{\sigma=m_{0}}^{s-1} \sum_{t=n_{0}}^{n-1} f_{2}(\sigma, t)\right) \\
& \quad+\sum_{s=m_{0}}^{m-1}\left(\sum_{t=n_{0}}^{n-1} f_{2}(s, t) \sum_{\sigma=m_{0}}^{s} \sum_{t=n_{0}}^{n-1} f_{1}(\sigma, t)\right), \tag{2.4}
\end{align*}
$$

$$
B(m, n)=\Phi\left(c_{1}(m, n) c_{2}(m, n)\right)
$$

$$
\begin{equation*}
+c_{2}(m, n) \sum_{s=m_{0}}^{m-1} \sum_{t=n_{0}}^{n-1} f_{1}(s, t)+c_{1}(m, n) \sum_{s=m_{0}}^{m-1} \sum_{t=n_{0}}^{n-1} f_{2}(s, t) \tag{2.5}
\end{equation*}
$$

$\psi^{-1}, \Phi^{-1}$ and $\Omega^{-1}$ denote the inverse functions of $\psi, \Phi$ and $\Omega$, respectively, and $M_{1} \in I, N_{1} \in J$ satisfy

$$
\begin{equation*}
A\left(M_{1}, N_{1}\right) \in \operatorname{Dom}\left(\Omega^{-1}\right), \quad \Omega^{-1}\left(A\left(M_{1}, N_{1}\right)\right) \in \operatorname{Dom}\left(\Phi^{-1}\right) \tag{2.6}
\end{equation*}
$$

Proof. From assumption $\left(\mathrm{H}_{2}\right)$ and the inequality (1.1), we have

$$
\begin{align*}
\psi(u(m, n)) \leq & \left(c_{1}(M, n)+\sum_{s=m_{0}}^{m-1} \sum_{t=n_{0}}^{n-1} f_{1}(s, t) \varphi(u(s, t))\right) \\
& \times\left(c_{2}(M, n)+\sum_{s=m_{0}}^{m-1} \sum_{t=n_{0}}^{n-1} f_{2}(s, t) \varphi(u(s, t))\right), \tag{2.7}
\end{align*}
$$

for all $(m, n) \in I_{M} \times J$, where $m_{0} \leq M \leq M_{1}$ is chosen arbitrarily, $M_{1}$ is defined by (2.6). Define a function $\eta(m, n)$ by the right hand side of (1.1), i.e.,

$$
\begin{align*}
\eta(m, n)= & \left(c_{1}(M, n)+\sum_{s=m_{0}}^{m-1} \sum_{t=n_{0}}^{n-1} f_{1}(s, t) \varphi(u(s, t))\right) \\
& \times\left(c_{2}(M, n)+\sum_{s=m_{0}}^{m-1} \sum_{t=n_{0}}^{n-1} f_{2}(s, t) \varphi(u(s, t))\right) . \tag{2.8}
\end{align*}
$$

Clearly, $\eta\left(m_{0}, n\right)=c_{1}(M, n) c_{2}(M, n)>0, \eta(m, n)$ is a positive and nondecreasing function in each variable. From the above equality (2.8) and by making use of the formula

$$
\Delta_{1}[a(m, n) b(m, n)]=\Delta_{1} a(m, n) b(m, n)+a(m+1, n) \Delta_{1} b(m, n)
$$

and using the fact that

$$
u(m, n) \leq \psi^{-1}(\eta(m, n))
$$

we obtain

$$
\begin{aligned}
& \Delta_{1} \eta(m, n) \\
= & \left(\sum_{t=n_{0}}^{n-1} f_{1}(m, t) \varphi(u(m, t))\right)\left(c_{2}(M, n)+\sum_{s=m_{0}}^{m-1} \sum_{t=n_{0}}^{n-1} f_{2}(s, t) \varphi(u(s, t))\right) \\
& +\left(\sum_{t=n_{0}}^{n-1} f_{2}(m, t) \varphi(u(m, t))\right)\left(c_{1}(M, n)+\sum_{s=m_{0}}^{m} \sum_{t=n_{0}}^{n-1} f_{1}(s, t) \varphi(u(s, t))\right)
\end{aligned}
$$

$$
\begin{align*}
& \text { A CLASS OF NEW NONLINEAR DIFFERENCE INEQUALITY ... } \\
& \leq \varphi\left(\psi^{-1}(\eta(m, n))\right)\left[\left(\sum_{t=n_{0}}^{n-1} f_{1}(m, t)\right)\left(c_{2}(M, n)+\sum_{s=m_{0}}^{m-1} \sum_{t=n_{0}}^{n-1} f_{2}(s, t) \varphi\left(\psi^{-1}(\eta(s, t))\right)\right)\right. \\
& \left.+\left(\sum_{t=n_{0}}^{n-1} f_{2}(m, t)\right)\left(c_{1}(M, n)+\sum_{s=m_{0}}^{m} \sum_{t=n_{0}}^{n-1} f_{1}(s, t) \varphi\left(\psi^{-1}(\eta(s, t))\right)\right)\right]
\end{align*}
$$

for all $(m, n) \in I_{M} \times J$. From (2.9), we get

$$
\begin{align*}
& \frac{\Delta_{1} \eta(m, n)}{\varphi\left(\psi^{-1}(\eta(m, n))\right)} \\
\leq & \left(\sum_{t=n_{0}}^{n-1} f_{1}(m, t)\right)\left(c_{2}(M, n)+\sum_{s=m_{0}}^{m-1} \sum_{t=n_{0}}^{n-1} f_{2}(s, t) \varphi\left(\psi^{-1}(\eta(s, t))\right)\right) \\
& +\left(\sum_{t=n_{0}}^{n-1} f_{2}(m, t)\right)\left(c_{1}(M, n)+\sum_{s=m_{0}}^{m} \sum_{t=n_{0}}^{n-1} f_{1}(s, t) \varphi\left(\psi^{-1}(\eta(s, t))\right)\right) \tag{2.10}
\end{align*}
$$

On the other hand, for arbitrarily given $(m, n),(m+1, n) \in I_{M} \times J$, by the Mean Value Theorem for integrals, there exists $\xi$ in the open interval $(\eta(m, n)$, $\eta(m+1, n))$ such that

$$
\begin{align*}
& \Phi(\eta(m+1, n))-\Phi(\eta(m, n)) \\
= & \int_{\eta(m, n)}^{\eta(m+1, n)} \frac{d s}{\varphi\left(\psi^{-1}(s)\right)}=\frac{\Delta_{1} \eta(m, n)}{\varphi\left(\psi^{-1}(\xi)\right)} \leq \frac{\Delta_{1} \eta(m, n)}{\varphi\left(\psi^{-1}(\eta(m, n))\right)}, \tag{2.11}
\end{align*}
$$

where $\Phi$ is defined by (2.2). From (2.10) and (2.11), we have

$$
\begin{align*}
\Phi(\eta(m+1, n)) \leq & \Phi(\eta(m, n)) \\
& +\left(\sum_{t=n_{0}}^{n-1} f_{1}(m, t)\right)\left(c_{2}(M, n)+\sum_{s=m_{0}}^{m-1} \sum_{t=n_{0}}^{n-1} f_{2}(s, t) \varphi\left(\psi^{-1}(\eta(s, t))\right)\right) \\
& +\left(\sum_{t=n_{0}}^{n-1} f_{2}(m, t)\right)\left(c_{1}(M, n)+\sum_{s=m_{0}}^{m} \sum_{t=n_{0}}^{n-1} f_{1}(s, t) \varphi\left(\psi^{-1}(\eta(s, t))\right)\right), \tag{2.12}
\end{align*}
$$

for $(m, n),(m+1, n) \in I_{M} \times J$. Keep $n$ fixed, let $s=m$ in (2.12) and then, taking the sum on both sides of (2.12) over $s=m_{0}, m_{0}+1, m_{0}+2, \ldots, m-1$, we get

$$
\begin{align*}
\Phi(\eta(m, n)) \leq & \Phi\left(\eta\left(m_{0}, n\right)\right) \\
& +c_{2}(M, n) \sum_{s=m_{0}}^{m-1} \sum_{t=n_{0}}^{n-1} f_{1}(s, t)+c_{1}(M, n) \sum_{s=m_{0}}^{m-1} \sum_{t=n_{0}}^{n-1} f_{2}(s, t) \\
& +\sum_{s=m_{0}}^{m-1}\left(\sum_{t=n_{0}}^{n-1} f_{1}(s, t) \sum_{\sigma=m_{0}}^{s-1} \sum_{t=n_{0}}^{n-1} f_{2}(\sigma, t) \varphi\left(\psi^{-1}(\eta(\sigma, t))\right)\right) \\
& +\sum_{s=m_{0}}^{m-1}\left(\sum_{t=n_{0}}^{n-1} f_{2}(s, t) \sum_{\sigma=m_{0}}^{s} \sum_{t=n_{0}}^{n-1} f_{1}(\sigma, t) \varphi\left(\psi^{-1}(\eta(\sigma, t))\right)\right) \\
\leq & \Phi\left(c_{1}(M, n) c_{2}(M, n)\right)+c_{2}(M, n) \sum_{s=m_{0}}^{M-1} \sum_{t=n_{0}}^{n-1} f_{1}(s, t) \\
& +c_{1}(M, n) \sum_{s=m_{0}}^{M-1} \sum_{t=n_{0}}^{n-1} f_{2}(s, t) \\
& +\sum_{s=m_{0}}^{m-1}\left(\sum_{t=n_{0}}^{n-1} f_{1}(s, t) \sum_{\sigma=m_{0}}^{s-1} \sum_{t=n_{0}}^{n-1} f_{2}(\sigma, t) \varphi\left(\psi^{-1}(\eta(\sigma, t))\right)\right) \\
& +\sum_{s=m_{0}}^{m-1}\left(\sum_{t=n_{0}}^{n-1} f_{2}(s, t) \sum_{\sigma=m_{0}}^{s} \sum_{t=n_{0}}^{n-1} f_{1}(\sigma, t) \varphi\left(\psi^{-1}(\eta(\sigma, t))\right)\right) \tag{2.13}
\end{align*}
$$

for $(m, n) \in I_{M} \times J$. Let

$$
\begin{align*}
D(M, n)= & \Phi\left(c_{1}(M, n) c_{2}(M, n)\right)+c_{2}(M, n) \sum_{s=m_{0}}^{M-1} \sum_{t=n_{0}}^{n-1} f_{1}(s, t) \\
& +c_{1}(M, n) \sum_{s=m_{0}}^{M-1} \sum_{t=n_{0}}^{n-1} f_{2}(s, t) \tag{2.14}
\end{align*}
$$

Define the function $\Theta(m, n)$ by the right hand side of (2.13). Clearly, $\Theta(m, n)$ is a positive and nondecreasing function in each variable, $\Theta\left(m_{0}, n\right)=D(M, n)>0$.

Using $\eta(m, n) \leq \Phi^{-1}(\Theta(m, n))$, by the definition $\Theta(m, n)$, we obtain

$$
\begin{align*}
\Delta_{1} \Theta(m, n)= & \sum_{t=n_{0}}^{n-1} f_{1}(m, t) \sum_{\sigma=m_{0}}^{m-1} \sum_{t=n_{0}}^{n-1} f_{2}(\sigma, t) \varphi\left(\psi^{-1}(\eta(\sigma, t))\right) \\
& +\sum_{t=n_{0}}^{n-1} f_{2}(m, t) \sum_{\sigma=m_{0}}^{m} \sum_{t=n_{0}}^{n-1} f_{1}(\sigma, t) \varphi\left(\psi^{-1}(\eta(\sigma, t))\right) \\
\leq & \varphi\left(\psi^{-1}\left(\Phi^{-1}(\Theta(m, n))\right)\right)\left(\sum_{t=n_{0}}^{n-1} f_{1}(m, t) \sum_{\sigma=m_{0}}^{m-1} \sum_{t=n_{0}}^{n-1} f_{2}(\sigma, t)\right. \\
& \left.+\sum_{t=n_{0}}^{n-1} f_{2}(m, t) \sum_{\sigma=m_{0}}^{m} \sum_{t=n_{0}}^{n-1} f_{1}(\sigma, t)\right) \tag{2.15}
\end{align*}
$$

for all ( $m, n$ ) $\in I_{M} \times J_{N_{1}}, N_{1}$ is defined by (2.6). From (2.15), we have

$$
\begin{align*}
& \frac{\Delta_{1} \Theta(m, n)}{\varphi\left(\psi^{-1}\left(\Phi^{-1}(\Theta(m, n))\right)\right)} \\
\leq & \sum_{t=n_{0}}^{n-1} f_{1}(m, t) \sum_{\sigma=m_{0}}^{m-1} \sum_{t=n_{0}}^{n-1} f_{2}(\sigma, t)+\sum_{t=n_{0}}^{n-1} f_{2}(m, t) \sum_{\sigma=m_{0}}^{m} \sum_{t=n_{0}}^{n-1} f_{1}(\sigma, t) \tag{2.16}
\end{align*}
$$

Similar to (2.10) to (2.13), we obtain

$$
\begin{align*}
\Omega(\Theta(m, n)) \leq & \Omega\left(\Theta\left(m_{0}, n\right)\right) \\
& +\sum_{s=m_{0}}^{m-1}\left(\sum_{t=n_{0}}^{n-1} f_{1}(s, t) \sum_{\sigma=m_{0}}^{s-1} \sum_{t=n_{0}}^{n-1} f_{2}(\sigma, t)\right) \\
& +\sum_{s=m_{0}}^{m-1}\left(\sum_{t=n_{0}}^{n-1} f_{2}(s, t) \sum_{\sigma=m_{0}}^{s} \sum_{t=n_{0}}^{n-1} f_{1}(\sigma, t)\right) \\
= & \Omega(D(M, n))+\sum_{s=m_{0}}^{m-1}\left(\sum_{t=n_{0}}^{n-1} f_{1}(s, t) \sum_{\sigma=m_{0}}^{s-1} \sum_{t=n_{0}}^{n-1} f_{2}(\sigma, t)\right) \\
& +\sum_{s=m_{0}}^{m-1}\left(\sum_{t=n_{0}}^{n-1} f_{2}(s, t) \sum_{\sigma=m_{0}}^{s} \sum_{t=n_{0}}^{n-1} f_{1}(\sigma, t)\right) . \tag{2.17}
\end{align*}
$$

Using the fact $u(m, n) \leq \psi^{-1}(\eta(m, n))$ and $\eta(m, n) \leq \Phi^{-1}(\Theta(m, n))$, from (2.17), we obtain

$$
\begin{align*}
& u(m, n) \leq \psi^{-1}(\eta(m, n)) \leq \psi^{-1}\left(\Phi^{-1}(\Theta(m, n))\right) \\
& \leq \psi^{-1}\left(\Phi ^ { - 1 } \left(\Omega ^ { - 1 } \left(\Omega(D(M, n))+\sum_{s=m_{0}}^{m-1}\left(\sum_{t=n_{0}}^{n-1} f_{1}(s, t) \sum_{\sigma=m_{0}}^{s-1} \sum_{t=n_{0}}^{n-1} f_{2}(\sigma, t)\right)\right.\right.\right. \\
&\left.\left.\left.+\sum_{s=m_{0}}^{m-1}\left(\sum_{t=n_{0}}^{n-1} f_{2}(s, t) \sum_{\sigma=m_{0}}^{s} \sum_{t=n_{0}}^{n-1} f_{1}(\sigma, t)\right)\right)\right)\right), \quad \forall(m, n) \in I_{M} \times J_{N_{1}} \tag{2.18}
\end{align*}
$$

Let $m=M$, from (2.18), we observe that

$$
\begin{align*}
u(M, n) \leq & \psi^{-1}\left(\Phi ^ { - 1 } \left(\Omega ^ { - 1 } \left(\Omega \left(\Phi\left(c_{1}(M, n) c_{2}(M, n)\right)+c_{2}(M, n) \sum_{s=m_{0}}^{M-1} \sum_{t=n_{0}}^{n-1} f_{1}(s, t)\right.\right.\right.\right. \\
& \left.\left.+c_{1}(M, n) \sum_{s=m_{0}}^{M-1} \sum_{t=n_{0}}^{n-1} f_{2}(s, t)\right)\right)+\sum_{s=m_{0}}^{M-1}\left(\sum_{t=n_{0}}^{n-1} f_{1}(s, t) \sum_{\sigma=m_{0}}^{s-1} \sum_{t=n_{0}}^{n-1} f_{2}(\sigma, t)\right) \\
& \left.\left.+\sum_{s=m_{0}}^{M-1}\left(\sum_{t=n_{0}}^{n-1} f_{2}(s, t) \sum_{\sigma=m_{0}}^{s} \sum_{t=n_{0}}^{n-1} f_{1}(\sigma, t)\right)\right)\right) \tag{2.19}
\end{align*}
$$

for all $(m, n) \in I_{M} \times J_{N_{1}}$. Since $M \in I_{M_{1}}$ is arbitrary, from (2.19), we get the required estimation (2.1).

## References

[1] R. P. Agarwal, S. Deng and W. Zhang, Generalization of a retarded Gronwall-like inequality and its applications, Appl. Math. Comput. 165 (2005), 599-612.
[2] R. P. Agarwal, Y. H. Kim and S. K. Sen, New retarded integral inequalities with applications, J. Inequ. Appl. 2008(2008), Art. ID 908784, 15 pages.
[3] W. S. Cheung, Some discrete nonlinear inequalities and applications to boundary value problems for difference equations, J. Difference Equ. Appl. 10 (2004), 213-223.
[4] W. S. Cheung, Some new nonlinear inequalities and applications to boundary value problems, Nonlinear Anal. 64 (2006), 2112-2128.
[5] W. S. Cheung and J. Ren, Discrete non-linear inequalities and applications to boundary value problems, J. Math. Anal. Appl. 319 (2006), 708-724.
[6] C. J. Chen, W. S. Cheung and D. Zhao, Gronwall-Bellman-type integral inequalities and applications to BVPs, J. Inequ. Appl. 2009(2009), Art. ID 258569, 15 pages.
[7] Qing-Hua Ma and W. S. Cheung, Some new nonlinear difference inequalities and their applications, J. Comput. Appl. Math. 202 (2007), 339-351.
[8] B. G. Pachpatte, On some new inequalities related to certain inequalities in the theory of differential equations, J. Math. Anal. Appl. 189 (1995), 128-144.
[9] P. Y. H. Pang and R. P. Agarwal, On an integral inequality and discrete analogue, J. Math. Anal. Appl. 194 (1995), 569-577.
[10] B. G. Pachpatte, On some new nonlinear retarded integral inequalities, J. Inequ. Pure Appl. Math. 5(2004), No. 3, Art. 80, 8 pp.
[11] W. S. Wang, A generalized sum-difference inequality and applications to partial difference equations, Adv. Difference Equ. 2008(2008), Art. ID 695495, 12 pp.
[12] W. S. Wang and C. X. Shen, On a generalized retarded integral inequality with two variables, J. Inequalities and Applications, Vol. 2008, Article ID 518646, 9 pp.
[13] W. S. Wang, Estimation on certain nonlinear discrete inequality and applications to boundary value problem, Adv. Difference Equ. 2009(2009), Art. ID 708587, 8 pp.

